2013/04/24

j PROGRESSIVE EQUIPMENT ®

CUSCO Rollcage 16-Point FIA/JAF

Part Number: 962-295-W
Vehicle: 2013-2016 SCION FR-S / SUBARU BRZ

[Rollcage Component List]

No. Part Description QTY Note
1 Main Hoop Bar 1 Main Hoop
2 Rear Bar - Right 1
3 Rear Bar - Left 1
4 Front Bar - Right 1 Drill Hole on Dash Board
5 Front Bar - Left 1 Drill Hole on Dash Board
6 Front Roof Bar - Center 1
7 Front Roof Bar - Right 1
8 Front Roof Bar - Left 1
9 Side Door Bar - Upper Right 1
10 Side Door Bar - Upper Left 1
11 Side Door Bar - Lower Right 1
12 Side Door Bar - Lower Left 1
13 Support Plate 1 For Front Bar - Right
14 Support Plate 1 For Front Bar - Left
15 Support Plate 1 For Main Hoop Bar - Right
16 Support Plate 1 For Main Hoop Bar - Left
17 Support Plate 1 For Rear Bar - Right
18 Support Plate 1 For Rear Bar - Left
19 Bolt - M10 x 60mm 36 For Joint
20 Washer - M10 36 For Joint
21 Nut - M10 36 For Joint
22 Bolt - M8 x 25mm 18 For Support Plate
23 Washer - M8 18 For Support Plate
24 Washer - M8 18 For Support Plate
25 Lock Washer - M8 18 For Support Plate
26 Nut - M8 18 For Support Plate
27 Joint 18 For connecting rollcage bar

T020716-2



2013/04/24

#27

#21
d p .‘

4 | #20

] #19

T020716-2



2013/04/24

Support Plate

- Weld Support Plate from 90mm

up from the Hole Center
90mm

Hole Center

—3— T020716-2




2013/04/24

Front Right Installation

Drill holes on floor and connect
support plate and body with
supplied hardware.

Install the same procedure
on Front Left

Drill holes on rear fender and
install support plate and body
with supplied hardware.

Install the same procedure
on Rear Left

—4— T020716-2



2013/04/24

T020716-2






